EARAZROREIERT — 2 N—XBISY —F 2021558250 (k) 5E£R2H

m%j—(umtg LW bHBY D EIR H5H—E BRI R
[AE4£] 1% :360,000 ™ ~ 2#&:115,000  ~ 33#&:57,000  ~ 43#&:43,000™ 5 3&:36,000 @
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. IZET 1:35.2 -3-3-2 . — hNEEFE (£R)
1 2 TALT "6 5%.0 (:f)) 53 5.6 1 ‘zg? =ETFTA
RiANTz—FI BRI EA L [/ el
i 4 5 | BEEBLA 1:35.4 1-1-1-1 | 38.5| — 5 461 | =iERZ (£R)
2 3| L IT—U 54.0 ) (-3 | @ T. U. K.
RN=—VI514 BHY—F1bdTq (B) #HAEIA-FKL—va>@AE77
3 6 LTy SNy N 4 8 glgfgﬁm 1:(3;.1 2-2-2-3 |38.7| — 2 537 ig?—fg (&R)
R ILLFFEaFc BAavEIOLY 0| Aamtgss
R . KB : —4-4- — INEEFNZE (£R)
alalg|vamr>zsa— o4 i 1.(316).3 4-4-4-4 | 38.4 4 ::2) Ll
L:2v— K770 B:F1ELTHED BIZ77— L4

S At i 5 | BURT 1:36.8 7-7-7-5 | 38.0| — 7 420 |BSF (&R)
]4 PR T2 - 5.0 2 1/2) G | HRE

LNnN=vo74 B:arrq4J Slise]

d H Q:;§)$:f§:75>vy7"}*f7r§ e igﬁ% 1:(317)‘0 i 6 ff) %EE;’%};QW

x| 1] 1 #75)bujfgb 4 10 %_BS%E (Hy_a‘é) - = | = — <:) §$%§ (&3R)
LHI7TLIFLN BiYITEL—% =ia 1

@ 1 —F—BAIE

13=3r= 3,6,2,(7,8),5,4

2a=7r= 3,6,2,8,5,7,4

gI=7"= 3,6,2,(5,8),7,4

41 —F— 3,2,6,8,(4,7),5

® ILE:

-y 2 190 794K 2-3 350M B = 2-3 1,280M 3BER 2-3-6 920H

7 B 2 130M 2-6 180M B H 2-3 2,130M & 2-3-6 5,510M

3 380M 3-6 490H

ARICOVWTRDTEEERROODE. TR LIV,




